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I. Using a ladder to connect two mxn divided by a wall o'nav > high
a. »an: aladder v™1 wide on each side connects the two maxn
i. If: the wall is less than v"7 thick, the ladders must be within v”3 (112%) of each other across the width of the wall
ii. But if: the wall is v"7 thick, it constitutes its own (usable) mw1 and the ladders may be far from each other
b. »ax 71 222 ’7: if he built wood stands (to minimize 0™ height) and lower one is V"1 wide — that height is subtracted
i. Even if: the lower is <0™1, but upper is V"1 and is within v" of the lower —height is subtracted from wall-height
c. 2”1 aladder made up of staggered steps — if the lowest step is v”1 — higher ones may be of any width
i. Ewven if: the lowest step is <v”1 but the higher is v™1, as long as higher is within v of lower — considered
d. 277 if a ledge juts out v"*1 from wall (and is V"1 deep) and he put a ladder up against it — diminishes height (to 1)
i. Caveat: only if he put the ladder directly against it; if he put it next to it, he has merely extended the vt
e. J7.if a wall is up to 19 mnav high, it can be minimized (as above) with 1 ledge; if 20 o'nav high, requires 2 ledges
i. Explanation: lower must be within v of ground; next must be within v" of lower ledge
ii. 171 the two ledges only help (for 20-high) if they are not aligned (so that a ladder could connect them)
II. &0 "7’s ruling re: a column in 9”7 which is 10 high and 4*4 — and the pursuant discussion
a.x217 /7. if he puts a peg onto the top — that has diminished its width and it is now M mpn
i. 7378 72 878 7’7 only if the peg is v”2 high — else, it is nullified to surface of top
ii. X327 73x: even if the peg is <0 high - still interferes with use
iii. sww ’1 even if v high (or more) still functional — someone could hang something there
1.Question (asked of »wx *7): what if entire surface is filled in with pegs?
a) Answer: considered useful, per 11nv 7’s ruling that a pit and its dirt-pile merge to make 0™
III.Length of a ladder needed to permit a wall of v (based on reclining it on diagonal)
a.Opinions: YRNY — 14; qov 29 — 13+ »ar — 11+ 97 a R’ -7+
i. 2797 7772 82777 77 based his ruling on 17, who ruled that a ladder placed at 90° minimizes
ii. Tangent: heavy “makeshift” steps minimized and don’t need to be anchored down
1.More likely: *921 9p7 (branches of Babylonian palm trees)
2.Less likely (anyone who would agree to this would certainly agree to 7522 577): Babylonian ladders
IV. Variations on ladders; questions posed by 9o 11 to n11
a. Straw in the middle: what if width of v"7 includes straw in middle (between 2 wood sections?
i. Answer: invalid — the foot has nowhere to go up/in
b. Straw on the sides: what if straw is on outside and wood rungs are in the middle?
i. Answer: valid — the foot can go in the middle area
c. Carving on wall: if he completed the v"1 by carving steps into wall
i. Answer: if adding to ladder, only need to carve up to v"; if carving entire ladder, requires full height of wall
1.Explanation: if ladder added to carving, he can get to top; if whole ladder is carved in, must reach to top
d. Using a tree as a ladder: since 92nn2 wnnwn is a Maw, doesn’t minimize — or perhaps it may
i. Even »37: who permits maw during mwnwn pa — may still disregard as nna since it is 1708 the rest of the day
ii. Or even 1227 who forbid maw during w”n’a may regard as nn; since it is a legitimate nny, but just 17oR to use
e.Using an 777wx: since it is NR1N2 MOR, may be invalid as a Nna — or may not matter
i. Even 717177 “1. who permits using nXin "M’k to purchase 27y may disregard here; there, he doesn’t want it
ii. Or even 127 who forbid using nRin ™MoR to purchase 11y may regard here; as above (n°%Y 717 RIR) RN NNY)
f. 727's answers (to 2’8 and 777WNK): tree is permitted, nPWR not
i. Challenge (n”): opposite stands to reason — per X121 of 1INy "1
1.If: naw Mo*R is the cause, invalid for 211y (D tree is disregarded); if other 1mo’r — valid (= n7wR valid)
ii. 77237 both issues fall along lines of disputes mentioned above
1.Tree: would work according to »a7, not 1121
2.777wx. would work according to N> '3, not 1327
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